Solving Linear Systems | MFM2P
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We are going to solve linear systems by graphing the lines and observing where they meet. We will need to
use our skill of graphing lines in order to do this. '
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To see if you did it right, you can plug your solution into each line. ok =% ‘K
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Solving Linear Systems

You try solving this linear system:
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2) y=5x—-8 y=;x—1
m= 5/, m = 3/1
= -9 b= —|

Point of Intersection: ( & , 9‘“ )
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Solving a linear system by graphing is easy... as long as the solution appears on the graph.

Try solving this linear system:

P y=4ax-2 y=3x+5
m= é« I"/| m= 3/|
b= =10 b= 5

Is the solution on the graph?? In these cases, we need
an algebraic method of solving linear systems.

Following along with Mr. Smith as we use algebra to find
the solution to this equation.
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1) Set the equations equal, and solve for “x”

2) Sub your value for “x” into either equation

L\scl—’L = 3%+ S

=t -3y
x-L =5
+1 o+l
=]

>

‘3‘: 4 (1) - 4 2 3(1)+S
=93 L 2l4s
206 20

L

e

Q

Point of Intersection = ( + , *G )

Vv




